

FAREZ A. SALMAJI

16/ENGR02/055

COMPUTER ENG

ENG 381

$$y = e^{2x+1}$$

$$y' = (2x+1)e^{2x+1}$$

where:  $u = 2x+1, v = e^{2x+1}$

$$\frac{dy}{dx} = 2 \frac{du}{dx} = (2x+1)e^{2x+1}$$

$$y'' = u \frac{dv}{dx} + v \frac{du}{dx}$$

$$y'' = (2x+1)(2x+1)e^{2x+1} + e^{2x+1}$$

$$y'' = y'(2x+1) + 2y$$

from Leibnitz theorem

$$y' - y'(2x+1) - 2y = 0$$

$$w_1 = y'' \quad v = 1 \quad u'' = y'' + 2$$

$$u = y'' \quad v' = 0 \quad m_1 = 0 \quad m_2 = 1 \quad C_1 u^{n-0} v' = y'' + 2$$

$$w_2 = y'(2x+1) \quad v = 2x+1 \quad v' = 2$$

$$y = y$$

$$u'' = y'' + 2$$

$$v'' = 0$$

$$= u^2 v + n u^{n-1} v'$$

$$y^{n+1} (2x+1) + n y^n \cdot 2$$

$$w_3 = 2y$$

$$u = y \quad v = 2 \quad v' = 0$$

$$u'' = y''$$

$$w_2^n = n C_0 u^{n-0} v' = 2y^n$$

$$= 2y^n$$

$$y^n - y' (2x+1) - 2y = 0$$

$$y^{n+2} - y^{n+1} (2x+1) - 2y^n = 0$$

$$y^{n+2} - y^{n+1} (2x+1) - 2y^n (2x+1) = 0$$

$$y^{n+2} = y^{n+1} (2x+1) + 2y^n (2x+1)$$



$$u - y' u'' = y''$$

$$w_1^n = \sum_{k=0}^n c_k u^{n-k} v^k + c_1 v^{n-1} v' + c_2 v^{n-2} v''$$

$$= u^n v + n u^{n-1} v' + \frac{n(n-1)}{2} u^{n-2} v''$$

$$y^{n+2} v + n y^{n+1} 2x + \frac{n(n-1)}{2} y^{n+2}$$

$$y^{n+2} v + n y^{n+1} 2x + (n-1) n y^n$$

$$= y^n \{ y^2 x^2 + n y^2 x + n(n-1) \}$$

$$w_0^n = \sum_{k=0}^n c_k u^{n-k} v^k + c_1 u^{n-1} v' + c_2 u^{n-2} v''$$

$$= u^n v + n u^{n-1} v' + \frac{n(n-1)}{2} u^{n-2} v'' = 0$$

$$y^{n+1} x + n y^n - 1 + 0$$

$$y^n (x y + n)$$

$$w_0^n = \sum_{k=0}^n c_k u^{n-k} v^k + n c_1 u^{n-1} v'$$

$$= u^n y^0 + 0$$

$$x^2 y'' + x y' + y = 0$$

$$w_1 + w_2 + w_3 = 0$$

$$y^n \{ y^2 x^2 + n 2x y + y^n (n-1) + y^n (x y + n) + y^n = 0$$

$$y^n (n-1) + y^n n + y^n = 0$$

$$n(n-1) + n + 1 = 0$$

$$y^n - y^n n (n-1) - n y^n$$

$$56 n = 1$$

$$y = -0 - y'$$

$$y = -y'$$

$$= x^2 y^{n+1} + n 2x y^{n+1} + n(n-1) y^n + 2x y^{n+1} n y^n + y^n = 0$$

$$= x^2 y^{n+2} + 2x y^{n+1} (2n+1) + y^n (2n^2 - n + n + 1) = 0$$

$$= 2x^2 y^{n+2} + (2n+1) 2x y^{n+1} + (2n^2+1) y^n = 0$$